
Olrik regulator - Drawing 1, Regulator house 1

60o60o

60o

Ø26.5

ExhalationInhalation

HGO
Henrik Gerner Olrik



Olrik regulator - Drawing 2, Regulator house 2

A

A

ø5 x 17.5

ø29.5

ø169

ø98

ø81

35

20 12

7.5
t=0.8

Section A-A see drawing 6

5/8” Pipe thread



Section C-C
ø9.6

10
25

ø4
ø3

3.3

1.6

ø3 x 3.8
ø6 x 12.4 - bore 3.3

M3 x 20

Placed 2.5 and 7.5 from
Edge of plate12

34

70

C

C

ø10

B

B

Section B-B

ø13

17.2

ø0.8

3.5
2

ø4.8
M8x
ø10.6
ø12

ø19.5

24
.5

8.
5

3.5
1.5

ø2

8 5

O-ring 6x1,78

Stainless steel diaphragm t=0.12

Olrik regulator - Drawing 3, exploded view 1

23,7

See drawing 5

M4 x 18

Bottom block

ø15.5

ø10 ø7 h=3

Gasket

ø3



Olrik regulator - Drawing 4, diaphragm and cover

ø120 ø117

ø111,2 - 6 holes ø3.2

ø81.3 - 12 holes ø4.5 M3 l=10

ø72 t=0.5  screw M3 l=6

E E

D D

Diaghragm is made of rubberized fabric
Outer edge is reinforced by a layer of the
same material

16

1

ø120
ø101.5

ø117
ø97.4

7.84.2

ø117
ø97.4

ø72 t=1
t=0.5Section E-E

Section D-D

Countersunk



Olrik regulator - Drawing 5, exploded view 2

2

ø12
ø3ø2.55

M5

ø5.2 depth 3.2

ø6.0/ø6.5 depth 0.4 (for friction plates)

7

7

ø3.5 spherical depth 0.6 Fibre valve plate

13

36.2 37.1
73.3

32.4

22 34

16

23.7

ø24.7

ø9.5

ø6
ø413

137.1

ø5.5 depth 4.2ø5

13.6

8.7

15
1.7

3.6
ø2.5

M5 x 8.7

M5 x 3.7

ø4.7 x 8.6
t=1.0

h=2.7

Ø2,5 x 27

ø5,95 x 6
bore ø4.5 depth 4.2

Rod ø4 x 7.8

Brass pressure plates ø6 t=0.2
Curved to a hight of 0,5 37

23.5 8.9

8.6

4.5 ø3

Grinded down to ø2.9



Fiber valve plate

Valve ring ø20 / ø16
h=5

Spring

8 holes ø4.5

ø2
8

ø2
5.

5

ø2
3.

5

ø1
9

47

12

5
811

9.5

Section A-A Exhalation

Olrik regulator - Drawing 6, Exhalation and filter

Brass filter

Filter Screw

M8 x 1.0
5

ø2

ø4.5

Filter




